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According to the passage, what...? Which...? Why...? How...? Who...? Where...?
When...?

According to the passage, which of the following statements is true?

In paragraph. .. , what does the author say about...?

What point does the author make about...?

What reason is given for...?

Which of the following statements applies to...?

Which statement best describes...?

What does the author say about...?
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P9, ERLE

Under very cold conditions, rocks can be shattered by ice and frost. Glaciers may form in
permanently cold areas, and these slowly moving masses of ice cut out valleys, carrying with
them huge quantities of eroded rock debris. In dry areas the wind is the principal agent of
erosion. It carries fine particles of sand, which bombard exposed rock surface, thereby
wearing them into yet more sand. Even living things contribute to the formation of landscapes.
Tree roots force their way into cracks in rocks and, in so doing, speed their splitting. In contrast,
the roots of grasses and other small plants may help to hold loose soil fragments together, thereby
helping to prevent erosion by the wind.

According to the paragraph, which of the following is both a cause and results of erosion?
A Rock debris.

B Tree roots.‘

C Sand.

D Glacial activity.

[ 247 ]

S FREET, IO, BT RELG IR cause (JRE ). result (555 )
erosion ( & ),

= EIE R SCEENM ., cause TR A SUAE agent (JRE ), result 7EJR
SCHKIE A2 thereby, T erosion —iA] R 7ESCE A FIAIE .

W= EERLOABTER AT RS R A, RIE LEKEAL, BRI TR AR
JE/aJ & In dry areas the wind is the principal agent of erosion. It carries fine particles of sand,
which bombard exposed rock surface, thereby wearing them into yet more sand.

U, BRI, #ubE. AERTTUESH, XEsipF, EEhdaaRE,
WA GER, FABRLHYT. TR, DFRERHNER, wRER. Fitsk#E C,
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REERBSCPEARR. SFECFBEAAEELERRSEM., B3E 2 23 MEH.

WEBRT, BEFLE BRI LE R KRB E RS A& BHE 2R FEXER
EAEMAETi R, =ANRESFECEBHEFFRETA BAH/E—SILBEET.

N '} 7528
TH, PR RS S AR LR SRR R Sk AR BE 14, MR H
# not, except. least &if], XiA@EH UKEFRAEALH, T
According to the passage, all of the following statements are true EXCEPT...
All of the following are mentioned in the passage EXCEPT...
All of the following describe...EXCEPT...
All of the following are examples of... EXCEPT...
The author’s description of X mentions all of the following EXCEPT...
Which of the following is NOT mentioned in the passage?
Which of the following is NOT given as a reason for...?
Which of the following is LEAST likely?
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BAARFRIETT, T H— DI, ®ESFECHTFE, REERCFRER, BEER
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B, MEBRRAETLUS, FAEAEACHER, DBEEHEETXESH.

iy, EEEm

The opposite of an opportunist is a competitor. These organisms tend to have big bodies,
are long-lived, and spend relatively little effort each year on reproduction. An oak tree is a good
example of a competitor. A massive oak claims its ground for 200 years or more, outcompeting all
other would-be canopy trees by casting a dense shade and drawing up any free water in the soil.
The leaves of an oak tree taste foul because they are rich in tannins, a chemical that renders them
distasteful or indigestible to many organisms. The tannins are part of the defense mechanism
that is essential to longevity. Although oaks produce thousands of acoms, the investment in a
crop of acomns is small compared with the energy spent on building leaves, trunk, and roots. Once
an oak tree becomes established, it is likely to survive minor cycles of drought and even
fire. A population of oaks is likely to be relatively stable through time, and its survival is likely
to depend more on its ability to withstand the pressures of competition or predation than on its
ability to take advantage of chance events. It should be noted, however, that the pure opportunist
or pure competitor is rare in nature, as most species fall between the extremes of a continuum,
exhibiting a blend of some opportunistic and some competitive characteristics.

All of the following are mentioned in the paragraph as contributing to the longevity of an
oak tree EXCEPT

A the capacity to create shade.

B leaves containing tannins.

C the ability to withstand mild droughts and fire.

D the large number of acorns the tree produces.

[ fRHT ]

S, BETRXBIFHBFCFREN,

HEIR A PEERIFE shade, EALBIFECHHXA]TE: A massive oak claims its ground
for 200 years or more, outcompeting all other would-be canopy trees by casting a dense shade
and drawing up any free water in the soil. :

BEI B &AL tannins, EALBIFSCHHIXA]TE: The leaves of an oak tree taste
foul because they are rich in tannins, a chemical that renders them distasteful or indigestible to
many organisms. The tannins are part of the defense mechanism that is essential to longevity.

I C ) 55 47 & droughts and fire, {7 B JH CH #Y3X 4] 3% : Once an oak tree
becomes established, it is likely to survive minor cycles of drought and even fire.

BT D R <A acoms, JR3CH HA T HIX AW A acoms —id], B Although
oaks produce thousands of acorns, the investment in a crop of acorns is small compared with the
energy spent on building leaves, trunk, and roots.
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FENCAR ( Vocabulary Question ) B2 A MR b T XM S ANCEEERE . X
FRERR LA BRI, —FRRGAREX, BPSAL SCH RR SR R E ER P e RE
X B—REAEREN, BIEAREE L F SO A RIR SURIA A SR A L. X
HERBREEAKR, BS5ERXEFRAEERN=02Z—, WEENRNMEERER.

s 51 7550
BRI AN A R FE AT -
The word (phrase) “A” in the passage is closest in meaning to...
The word (phrase) “A” in the passage could best be replaced by which of the following?

=, BIASE

S IRIARELRIE . EIE R IAEIT, ARG RER FEEEN— W, =
SREE T IR, ‘

B, THEBAR, FEELBREA LT XHHERANXMRWER, AFEMN
AR, RN B T R R A RAIET

= @S RTRT A 0 Sk B B AT RE R RAEITR AL, RFRARANGER
ORI, BT M TR .

w0, EES EEN SR A SR IR T, AT LAE P-4 SR AR A
F—HiE, BR—BAEEHH ISR GEE, RIGHTHRR ., 0T LR RIEE
RSN, BIEn. AT . AR . E%.

P4, EZEQE

Growth, reproduction, and daily metabolism all require an organism to expend energy.
The expenditure of energy is essentially a process of budgeting, just as finances are budgeted. If
all of one’s money is spent on clothes, there may be none left to buy food or go to the movies.
Similarly, a plant or animal cannot squander all its energy on growing a big body if none would
be left over for reproduction, for this is the surest way to extinction.
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The word squander in the passage is closest in meaning to
A require.

B squeeze.

C spend.

D convert.

[ BRAR ]

F—, BHXAE, WRIRIAR squander 3XANA], HHEEA “ %, BB WER,
PRELAT AT E & 22 AR C spend, ‘B2 squander R BB IR,

B, HRRAT—R, BRIEBERR L FICRIFWINER, RIVEEKARE
#J/]-F Similarly, a plant or animal cannot squander all its energy on growing a big body, Xt
HHERAE K Similarly —i#, XR—NRRLLUWESE, FURTEENER, RAX
AERFRI AT, RARINZIEZ LRIIEY W EEREHENRT, #3)7T “If
all of one’s money is spent on clothes, there may be none left to buy food or go to the movies.”,
EEUAXRBERFENRG TS5 NEERMEHH#H TR, BEXNF, TRAHEN
squander 5 spend R B BT, TS R EET C spend,

H=4, AT spend {X;[812F3C Similarly, a plant or animal cannot spend all its energy
on growing a big body, FIEFFRK—H, HEERMEET C,

ARERANTB B AARRE:, BN BRI S RN E A2 —. Fln:

Fortified medieval towns were often surrounded by two water moats.

The word surrounded in the sentence is closest in meaning to

A protected.

B encircled.

C flooded.

D supplied.

HAERMN T AT B, RABTELFERFGHEXMEE CRIRARAFEHIR,
EAF B KA B W BB, WOTHERR C; TR D supplied fRA, R IE XA,
WK D W HERR . BT A RN B BRI, AT BRE N HAR R BN HER T, X B
VI A B E B SR, surround —iA]FP Y -round 2 “ 3752 7 WER, T B FHY ~circle
= L MERE, MERHNB.
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PEER A —LUR THEEHWIRL (Inference Question ), FRHERTRL. BMEXFE+HA
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g R/ MABRE WHER, EARUERLRT . Fli, XELRBEHFHER, BlE
RERLE RS REGEE R ; MRICHE LB, ERER AT RSB ER R4 W
RICPHME—FRR VI ER, W T SRS TH ISR BRHE

HEWTRE AT 3 AP R 33S . A IR HERTRUR JC L A HERTEE . BT iEA Lt e,
REE T HHMFEICHNABFE QR (RMERER), —BR, RERNEKEHRET
XEE, FORLERERE, MEETHPERE, FERERTMABTHEE T
EER.

EFFEARRRNIER 3 B3cEP, SE4AH 02 EXHKEE, —KERALIE 34 HHERT
B, CRARMGHER, ERERK, FTEFEETLRES.
. R

WA W RS EE R EER, KEEERT, MEFSE R infer B imply, most
likely, least likely, probably X3/, #ilan.

Which of the following can be inferred from the passage?

Which of the following would be the most reasonable guess about _______ ?

It can be inferred from the information in paragraph X that ...

It can be concluded from the information in paragraph X that ...

In paragraph X, the author implies that...

The author suggests that...
It is probable that...

=. Sk

) XWTFAELENENE, WREETHPERRN, WLEEEET R,
HARELGFEIEESCER, REHEATHRE, WetRit, XFA IR, Z4AEMR
WS, MIXEESIIRTE ARG AR PR E, NEHIEHCHERER
1Ef.

B, AT RILERMERE, tREETHERERYN, —REAHRE, IRERST
IR iR EFCEN, ARG ETHERES I ERER.

B4, BEXKEEHTEERN T EREA:

1. HAMEF

2. B emial, inERL/EIF: many, some, much of, several, a few, most %4§; 1F
Z53hiA: may, can, could £48; FRitFEHA!: used to be, was, were, at one time, previously 5§;
FRAEME—HIA]: not only, not exclusively %,

Bz, SChieEa . WA, BE AT AT PR IX K AR

P4, HALC

Both the number and the percentage of people in the United States involved in



